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(2014 Admission Onwards)

COILII2ClO : FINANCIAL I\IANAGEI!1ENT

SECTION A

Answer any fou. qleslons in lhis Seclion. Each queslion ca ies 1 mark lor
Pair (a). 3 rnarks ror Part 1b) a.d 5 malks ior Pair (c)

1 a) What are tlre objeciives of t nance lunciion ?
b) Wrile a nole oi prolil maxlmization Vs wealh maximizaion
c) Cilicary anayse lhe tLrnctioninq of fiiancia manager in a argescae

induslr a estab shm€nl

2. a) Del ne capital budgel ng

b) Briely explain lhe pr nciples ol capila bldgeting
c) Cornpany X is lorced lo choose between lwo nrachines A aid B. The two

rnachinesaredeslgneddfierenlly but deniicalcapacilyand doexacllyihe
same lob Machine A cosls Bs 3,00 000 and wir lasl lor 3 years ll cosi
Fs. 80,000 per year to run. lvlachine B s a. economy model cost ng ony
Bs. 2,00,000 bll will rasr 2 years afd cosrs Rs. 1,20 000 per yeal to run.
Thes€ are realcash ilows. The cosis are lorecasled in rupees ol conslant
purchasinq power. lgnore iax oppodunly cosl oi capita s 10%. whlch
machine companyX should bly ?

The preseni value ol annu ly ior2 yeals and 3 yearc ai I0% is 1.735 and 2 486

3 a) Whal is mea.t by i nancalleverage ?

b) Whal s operatins everage ? How does I rnagnilying revenue oi a I rnr ?

c) A I .m has sa es oi ns. 20,00,000, vaisble cosl oi Fs. 1 4,00 000 and fixed cost
oi Rs 4,00 000 and deu of As 10,00 000 at 105 rale oJ nte.est. Whal are the

opelafng, financa and combined everages ? li the iirrn wants 10 double ts
EBIT how much oi ise in sa es wolld be needed o. a percenlage basis ?
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L a) Write a shorl note on capta

b) Give a cilca appraisa ol a
Problem ol capital strucl!re

.l

l l ti, tl lli ll

geann!
trad lional apprcach and M[1 approach lo th€

5a)
b)

6a)
b)

There are nvo f rms X and Y rvh ch are exacily idenlica lhatxdoes rotuse any
debtinirsiinancng WhileYhasRs 1 ,00,000 5% debenlLr res in i1s linanclng.
Bolh the Jirms have EBIT oi Fs. 25 000 and lhe equ ty capitalizal on rale
is l0%. AssLrm ng Ihe colporale 1ax ol50% calculale lhe va Lre of lh€ lirrn
us n! L4 and 1,4 approach

what do you mean by div'ien.l pay'oul rauo ?

Exp ain ihe varlous lorms ol dlvidends.

An nvestor gains nothing irom bonls shares Exam ne the sial€meni

What do you mean by op€raling cyce ?

Explain the various laclors airerrling working capjtaldec s ons of a company

A cornpany has a po icy of ma ntaining a rn nimlm cash ba ance of
Rs 1 00 000thestandarddev alon in dailycash baance is Rs 10,000 The
inlerest lale on a daily bas s is 0 01%. The lransaclion cosiioreach sae or
purchase ol secLrtes sFs.50 Co rnpule upper conlrol rnlandlherel!.n
po nt as per N4 er-Orr l,lodet.

SECTION B

Answerlhe two quesions ln lhis Secton Each qleslioncarries 12 marks

7 a) The p ncipaliocus ollinance is on decsion and actons which afi€ct the
value oi lhe iirm How can the iinancla managernent he p lo maxlmize I ?

OR

b) Th€ lo ow ng nlorrnalons ava abe in respecl ot a iirm.

Cap talization raie 101"

EPS Fs.50

Assumed rale ol return on nvestmenls

i) 12%

ii) 8%

iii) ro%

Show the eiiecl ol d vdencl po cy on markel prce oi shar€ appvng walers
lormlra when d vdend pay olt rato s (a)0'/. (b) 20ol. (c)40'/" (d)80%.
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8 a) ABC Ltd Se s goods a1a gross proit of 25% consider ng deprecaton as

parl of the cost ol prodrcl on. lts annualfigures are as lolows

Rs.

Sales al two months cr€d t 18 000,000
fi4ateria s consumed (suppliers exterd lwo months credit) 4,50,00Q

Wages paid (monthly n anear) 3,60 000

lr,'lanLrlactLring expenses oulsland ng at the end oilhe year 40,000
(caslr expenses are p6id one rnonth n arrear)

Toia administralive erpenses, pald as above 1.20,000

Sa es promoion expenses, paid qladeny in advance 60,000

The company keeps one monlh s slock each of raw malerials and I n shed
goods and believes in keep ng Rs. 1 00,000 in cash Ass!m nq a 15% safely
margin, ascena n the req! rements oi working capila of lhe company on
cash cosls basis lgnore work in-p.ogress.

OR

b) A I rm has sa es ol Rs. 75 00 000, var ab e cosl 01 Bs 42,00,000 and lixed
cosl oi Rs 6,00.000 il has a debl of Rs. 45,00,000 al 9% and equily ar
Fs. 55 00 000.

)

r0

iiD

iv)

V)

What is lhe I rm's BO ?

Oase il have lavorable I nancial leverage ?

Whal ar€ the operating f narcial an d corn bined everages of tbe lirrn ?

lfthe sales drop lo llre Rs 50,00,000 whal w llbe the new EB T ?

Atwhal levelthe EBT oi the linn w be€qualtozero?


